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FiIALEL %fr?ﬁ-f) F AP # () %3
2O 1,000 | 112.10.03 | A:¢ #c2b ~ A¥pdees ~ 4 B4kt ~ % £ 4od
20O 1,000 | 112.10.03 | A€ fces ~ HErfers ~ 2 B4 ~ 2 £ ik
2O% 1,000 | 112.10.03 | A ¢ $res ~ H¥pfres ~ 4 FH 4 4 £ 4ok
# O 1,000 | 112.10.03 | A€ fces ~ HErfers ~ 2 B4 ~ 2 £ ik
2 O* 1,000 | 112.10.03 | A ¢ $res ~ E¥pfes ~ 4 FH 4~ 4 £ 4ok
JOFS 1,000 | 112.10.03 | A- g fcms ~ Aapdens ~ 2 54t~ 5 £ ik
10z 1,200 | 112.10.26 | 4§ $ces ~ E¥pfes ~ 4 F3H e~ 4 £ 4ok
204 1,000 [ 112.11.01 | A-¢ Fces ~ HErfers ~ 2 B4 ~ 2 £ ok
20O? 1,000 | T12.11.01 | Ax¢ dcBs ~ HEpdees ~ 2 e % £ 3ok
2O% 1,000 | 112.11.01 | A-¢ fces ~ HErfees ~ 2 B4 ~ 2 £ ok
F O 1,000 | 112.11.01 | - ¢ $ces ~ ¥pfees ~ 4 F#H e 4 £ 4ok
20Oz 1,000 | 112.11.01 | A-¢ dceb ~ HErfees ~ 2 B4 ~ 2 £ ok
20O% 1,000 | 112.11.01 | - ¢ $res ~ ¥pfes ~ 4 F#H e 4 £ 4ok
204 1,000 | 112.12.05 | AL ¢ dceb ~ HEpfers ~ 2 B4 ~ 2 £ ik
20O 1,000 | 112.12.05 | Ax¢ dcBs ~ HEpdees ~ 2 e % £ ok
2O% 1,000 | 112.12.05 | A-¢ FcBs ~ HELICEs ~ 2 B F 0 ~ 4 £ ik
7 O = 1,000 | 112.12.05 | A-¢ fces ~ HELfces ~ 2 550~ & £ ik
20z 1,000 | 112.12.05 | A-¢ FcBs ~ HELICES ~ 2 B F B~ 4 £ ik
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i A 42 T3P 4 A ‘ %3
F I v %(;i%:;u) ¥ p Fp ("}Fl 27 2) A3
£ 0% 1,000 | 112.12.05 | A:¢ #c2b ~ A¥pdees ~ 4 B4k ~ % £ 4o
#HO# 2,000 | 112.12.11 | A:€ fwes ~ Sfees ~ 2 755~ £ £ 51075
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